
2014

4



ˆ ˆ 180



ˆ 10











ˆ ˆ ˆ2

ˆ 60

3

2







AH



90AB



                                               







2



4 

 

  

.                  

 

               

 
 
 
 
 
 
 



 

  

 

 

                                 

  

  

 ( 7)                 

 

 



 

 

      

       

 -       

 
 
 

 



 

  

  

  

 

  

                                                                                                                           

     

            

   .  

     

 

 

 



 

xOy  1 2 1 2

O O  

 

         

  

          

 xOy .       

 
 

 
 
 
 



 

     

 

i.                                                    

ii.    

 

 

 



 

A = =3

 

 

         

         

4

1
              

 
 
 



 

 

     

=           

 

  

 



 

30

  

  

        

  ( 12) 

 

 
 
 
 



 

 

 

 

:  = .   

 .       

 

    

      

 

 



 

 

 

                                                                             

                                                                                                 

   

 

.                                                  

 

                                                                                              

 

 



 

  

.  

 

           

         

.      

 

 

 



 

 

 

    

 

I.                                                                       

II.          

III.         

  

                                       

 

 

 



 

 

   

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

.  

  

                                                    

        ( 8)   

( 7) 

 

 



 

 

 

 

         

         

        

 
 
 
 
 



 

 

 

 

         

         

        

 
 
 
 
 



 

 

 

 

I.    

II.    

III.    

                             ( 7) 

 

 

 



 

B =2 B

 

 

.       

      

         

 

 
 
 
 



 

 

 

       

  

 

   

 

 

 
 
 
 



 

 

 

 

 

 

 

 

 

                         ( 20) 

 

           

        

   



 

 

 

    

          

  

        

 
 
 
 



 

 

. 

 

   

   

    

 

 

 

 

 



4 

 

 

 = +  

    ( ) 

 

 

    ( ) 

 

 

 



 

= 120
0  

 

 

i. .   

8) 

ii. .         8)  

   

           

 

  

 



4 

 

 

.                                         ( ) 

.     ( ) 

.        ( ) 

 

 

 



 

=  = .  

 

  

  

      

 

 

 

 

 

 



 

= , =  = . 

+ + .      

 

i.   

ii.    

 

  

 

 



 

R 1 2 

1 2  

 

i.    

ii.                

R  

       ( 9) 

 
 
 
 
 
 
 



4 

 

 

  ( ) 

                                           ( ) 

                                           ( ) 

 

 

 



 

 

 

i. .               (  

ii. 

         

 

i. =          

ii. + > +       



4 

 

 

i.         ( ) 

ii.        ( ) 

) 

    ( ) 

 

 

 

 



 

 

 

I. = +        

II. =        

 

I.     

II.     

 

 

 



 

 

 

      

         

+ .    

 

 



 

 

   ( ) 

.   ( ) 

                 ( ) 

 

 



 4 

 

  

i.  ) 

ii. ) 

iii.   ( ) 

     

       

                                                                                                              

 

 

 



 

 

                                       ( 7)   

  

                

=120  

 .                ( 8)     

                                                                                                                   

 



 

x  

 

i. 180
2 2

  

,       

ii.  

   ) 

15 ,  

.         ) 



  

90 , 1
4

 1
3

. 

   

   

, 

      

 

 



 

R 1 2 

1 2  

  

i.     ( 6) 

ii.         ( ) 

iii.      ( ) 

R

    ( ) 

  

 

 

 



4 

   

 

        ( 8)   

.          ( 9)   

        ( 8)   

 

 
 
 



 

 

 

 .                                                                     ( 8)  

 .                                                                 ( ) 

   ( ) 

 

 

 
 
 



 

  

 

  

 

.                                                                 ( ) 

) 

, =90 .                                                       ( ) 

) 

 

 

 

 



 

2
   = 120  . 

           

.          

          

     

                 

 

 

 



 

 

 :  

i. .       ( ) 

ii. 
2

.       ( ) 

 ,     ( ) 

 

 

 

 

 

 

 

 

 

 

 



 

  

  

i.     ( ) 

ii.                                ( ) 

)    

( ) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

R)  

. H 

.  

 

i.             

ii.                   

)  

R R           

 

 
 

 



 

 

 

 
2

                                      ( 8) 

        ( ) 

)                      ( ) 

 

 

 

 

 

 

 

 

 

 

 

 

  



 

 

 

 

 .                 ( ) 

  E          ( ) 

 
1

4
.                        ( ) 

 .                  ( ) 

 

 

 

 

 

 

 

 

 

 

 



 

, R  0 

  

 .  

 

  .        (  8) 

 .                        (  8) 

)    .         (  9) 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 



 

 EZ AB . 

 

                                   ( ) 

  .   ( ) 

 .                         ( ) 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

  

  

 

2
.                                   (  8) 

)   .           (  8) 

)      ( ) 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

1 2) 

 

 

                                                                               ( 7) 

)   0                                                                                                       ( ) 

)     0                                                                                                       ( ) 

 

 



 

  

   

 : 

                                                                                                                ( 5) 

                                                                                                                ( 5) 

  

i. 
4

                                                               ( 8) 

ii.                                   ( )                      

 

 

 



 

 

 .             ( 8) 

)          ( ) 

                   (  5) 

)  ( ) 

 

 
 
 
                                    



 

 

 

  .        ( ) 

                     ( 8) 

               ( 8) 

 
 
 
 

 
 
 
 
 
 
 
 



 

  

 

x // MB   

  

    ( 7) 

)    

)         ( 9) 

 
 

 
 



 

 

 

   

( ) 

        ( )                        

 0 .                                                ( )     

 
 
 

 
 
 
 
 



 

 

  

i.        (  6) 

ii. =
2       

 (  6) 

iii.    (  6) 

)   0 . (  7) 

 

 

 

 



 

xOy =900 y  

 

.  

 

 

                                   ( ) 

                                                                              ( ) 

  
2

,   

            ( 7) 

               ( )                      

 

 

 

 



 

 

  

)  

i. .        10) 

ii. 0120 .         10) 

) 

       (  5) 

 

 

 



 

 . 

   .     ( 8) 

  .      ( 7) 

  : 

i.        5) 

ii.        5) 

 

 

 



 

 

              ( ) 

 
4

.                                                  ( ) 

 2 .  

( 10) 

 

 
 
 



 

 (  ), 

   . 

 )  

i.     ( ) 

      

ii. 4
      ( )

 

 =30 , 

i. .     

ii. 
4

.    (  5) 

 

 

 

 

 

 

 

 

 

 

 

 
 
 



 

 

        ( ) 

        ( ) 

)     ( ) 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 

 



 

 

   .  

, 

     ( ) 

.   ( ) 

) 

        ( ) 

 

 

 

 

 

 

 

 



 

 

  

  

    ( 8) 

    ( 10) 

2 .                       ( 7) 

 

 
 
 
 
 



 
 

 

 

   

   

.                        

 
 
 
 



 

 

 

,  

    ( ) 

   ( ) 

.                                                          ( ) 

 

 



 

 

 

         ( ) 

      ( ) 

.                 ( ) 

 

 



 

 

 

            (  8) 

            (  9) 

2
.               (  8) 

 

 
 
 



 

   

. 

)    ( ) 

                  (  9) 

,  
2

.                                  ( )                      

   

 

 
 
 
 



 

90  30

, 

 

 

 .                        (  8) 

               (  9) 

.                          (  8) 

 

 
 
 
 
 



 

, 

  

 

2
90 .                   (  7) 

               (  8) 

2
.                         (  10) 

 

 
 
 
 



 

 

.     (  7) 

     (  9) 

     (  9) 

 

 
 
 
 



 

 

(  15) 

) 

 

                   (  10) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

,  

            (  10) 

0 .                                                            ( ) 

  (         (  5) 

          

 

 

 
 
 
 
 



 

 

                (  9) 

30 .                    (  8) 

              (  8) 

 

 
 
 
 
 
 
 
 
 
 



 

 

( ) 

  

 

( ) 



 
 

 

( ) 

 

( 12) 



 

 

 

                ( ) 

2
.                      ( ) 

 .            ( 6) 

.                  ( ) 

 
 

 
 
 



 

 

 

               ( ) 

                 ( ) 

BH.                   ( ) 

 

 
 
 
 



 

,  

            ( ) 

           ( ) 

                ( ) 

 
 

 
 
 
 
 



 

,  

              ( ) 

                 ( ) 

                 ( ) 

 

 
 
 
 
 
 



 

 

 

.                   ( ) 

                  ( ) 

.              ( ) 

               

 

 
 
 
 
 
 



 

 

         

.          

 

 
 
 
 



 

 

 

i. .          ( 10) 

ii     ( 10) 

 

: 

  

 

 

 

180  

180

 

 

           ( ) 

 



4 

 

.          

.          

      

 
 
 
 
 
 



 

90 , 90  

 

 

         

       

.         

 

 
 
 

  



 

 

 

.          

    

     

 
 
 



 4 

 

.  

 

   

         

) , .   

           

 .      

 



ΑΔ̂Ζ = ΕΑ̂Β

ΕΑ̂Β + ΒΑ̂Γ + ΔΑ̂Ζ =1800



 

 

,  

       

2          

           

 
 
 
 
 
 
 
 
 
 
 
 



 

 

,    (  

,     13) 

 

 
 
 
 



 

,  

         ( ) 

    ( ) 

.         ( ) 

 
 
 
 
 
 
 



 

,  

15 .         8) 

     

     

 

 

 
 
 



 

,  

     ( ) 

     ( ) 

   ( ) 

 

 
 
 



 

 

 

.      

       

     ( ) 

        ( ) 

 

 

 



 

 

 

     

 .      

       

2
.        

 
 
 
 
 



 

 

 

     

 .      

       

2
.        

 
 
 
 
 



 

 

 

     

         

-          

 
 

 
 
 



 

 

 

   

   

 .        

 

 

 
 
 
 
 



 

 

 

   ( ) 

       ( ) 

   ( ) 

 

 



 

 

 

90

 

 

         

     

90 .        

 



 

 

 

90  .        ( ) 

.      ( ) 

.         ( ) 

 

 
 

 



 

 

 

      

     

     

 

 



 

 

 

 

  ( ) 

   ( ) 

2
       ( ) 

 
 



 

 

  

    ( ) 

      ( ) 

       ( ) 

 

 



 

 

 

        ( ) 

.      ( ) 

       ( ) 

 



 

 

 

    

   (  

   

 

 



 

2

 

  

       ) 

.     

.      

) .        

 

 



 

 

 

     

      

    

 

 

  



 

 

 

.       

.       

    ) 

 

 

 

  



 

2

 

     

 

i. BE = 
2

          

ii.           

 

  



 

   

 

, 
2

  

 
2

.  

 

i.   ) 

ii.       

,   . 

          

 

 
 



 

(A=90o

  

,   .  

 

     

2
90          ) 

         ) 

 

 



 4 

,  

            

      

  

 

            

 



 4 

  ( 90 30  

 

 

i .      

ii) 
2

.           

    

  

     

 



 
 4  

 

 

 

 B              ( ) 

)                         ( ) 

    ( ) 

 

 



 
 4 

B  

  

        (  7) 

 
2

B
                                    (  10) 

 
2

B
E B        (  8) 

 

 

 



 

x 

y 

x y 

 

      7) 

   

           (  10) 

 
4

3 , 

                   (  8) 

 

 

 

 

 

 
                                                                 
 



 

      
 ,  

 : 

                         (6  

                                 

    

 

 



 

     

. 

  

             

   

                                         8)                              

 

,  

             

                     

 



 

 

 

  ( ) 

 .               ( 9)                                      

 .            ( 9) 

 



 

 

 

i.         

ii.           

=
3

2
. 

                                                            

 

 
 
 



 

 

 

4
          

         

       

 

 



 

  . 

.  

 

              ( ) 

.                  ( ) 

              ( ) 

 

 
 
 
 
 
 
 
 



 

 

              

               ( ) 

               ( ) 

            ( ) 

 

 
 



 

 

 

.  

 

                    ( 6) 

                     (  7)  

.                            (  6) 

               ( 6)  

 

 
 
 
 
 

 :                                                                 
 . . .  



 
 
 

 

 4.1    4.2    

 4 
 

  
 

 

 



 

60

 

 

   ( 6) 

.                           ( 6) 

2                        (  7)  

  .                  (  6) 

 

 
 
 
 
 



 
 

 

 

             

  

.                

.                  

 



 

'x  Ax  'Axx  

x x  

Ay  Az  'Axx  

 

EAZ       

 'Axx .      

      

 



4 

 

   

     

.  

  

i.     9) 

ii.    

) 

, 

     

 

 

 



 

   

270  

    .                              ( 8) 

  .                ( 9) 

        8)                     

 

 

 
 
 
 



 

   90  

 

 

)  .   ( 13) 

)  
8

3
 .     12) 

 
 

 
 
 



 

     2  
2

. 

 

   .     ( 10) 

   

i .         ( ) 

ii.    .      7) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

      

2
 .  

 

  

  .   ( 8) 

  .   9) 

.                          8) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

  

 

  

.                                                         ( 4) 

  .                             ( 7)          

)                     (  7) 

  .                           7) 

 
 
 

 
 
 
 



 

  = 2   

.  

  

 .       ( 8) 

) .       8) 

          9) 

 

 



 

 

 

      

 .               (   

.       

   

 



 

 

 

      

 .       (   

          

 

 



 
 

 

 

i. 90 .     

ii.  

(   

iii. 
4

   

 

4

      ) 

 

 
 



 

// , 4  2

 600 

 

    

.               (   

.      

 



 
 

 

//  

  

 

 

                (  

          (  

             

 



 

 

 

      

  ( ) 

      

 
 



 

 

    

 

      (  

ii)       

 



 

 

   

     

 (  

 

 

 



 

90  

 

. 

 

i.                                     (  6) 

ii.             (  6)  

iii.  .                     ( 7)  

)   

              (  6) 

 
 
 

 
 
 

 :                                                                 
 . . .  

 
 

 



 

  

 4 
 

  
 

4.1    4.2    

 



 

120 . 

. 

    

   

          

4
.      

          (  

 



 
 

 

 

.           

     ( 6)  

       

    6) 

 



 

 

 

 

       

  (   

  

      

 
 

 



 
 

 

 

. 

.           ( 9) 

          ( 9) 

        

 
 
 
 
 
 



 

 

 

 

 

i.      ( ) 

ii.     ( ) 

iii.     ( )  

   

 1.  

    

   3. =   

. 

 

         ( ) 

 

 



 

 

 

:  

i.          

ii.    

  

    

  

 2.   

   

 - -  

 

 

 

 



 

 120 . x 

 

 

      

2           

//           

         

 

 
 
 
 



 

 90 60  

 

 : 

           ( 6) 

 .          ( ) 

  2             ( ) 

            ( ) 

 
 

 

 
 
 
 



 

 

 

 

 2           

    

     

   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

   

  

 

 

 

  .                                ( 7) 

  ( 9) 

    .                                                                           ( ) 

 
 
 
 
  
 
 



 

 

     

.    

  

i. AZ=AE                ( ) 

ii.              ( ) 

)    

 

       ( ) 

 

 
 

 

 



 

  (  (

   

.  

 : 

)  . 7) 

)   . (  8) 

   // .   ( 10) 

 
 



 

 

 

      ( ) 

   .                                                    ( ) 

      ( ) 

 
 

 
 
 
 



 

 .    

 

  ,  

 

.      ( ) 

.         ( 9) 

.         

 

 
 
 
 



 

//  

 

 

  ( ) 

)  
2

.        ( ) 

  .             ( 5) 

 

 
 
 
 



 

 90   

 

.  

 

   2  2 .      ( ) 

    2 .       

( 8) 

 )    
4

        ( 7) 

 
 
 

 



 

  ( ), 

 . 

 

)   .                 ( ) 

)   2 .            ( ) 

.          ( ) 

 

 
 
 
 
 



 

 ,  

 

 

 

    .    ( 15) 

   .    ( ) 

 
 



 

90  

 

 . 

 

              ( 9) 

)   .          ( ) 

)  .              ( ) 

 

 
 
 



 

  (

 

   

i.    .        ( 6) 

ii.    .     6) 

iii.    ( ) 

 

   i : 

 

 

     ,   

1.    

2.     

3.      

.  

 

 

 -  

                         ( )  

 

 

 



 



 

 

              

       

      

 



4 

= 90o  ( 90

 

 

.      

2              

               

 

 

 

 



 

   

 

.      

   

) 

      

 

 

 



4 

( ) 

.  

N  

         

  .       

45
2

         

          

 

 

 
 
 
 
 
 
 
 
 



 

 

, 

  =    

: 

)       

)       

)   
4

.   

 

 

 



 

 

  

 

:  

i.  

          

ii.    

      

iii.      

)  

          

    

     

 

 
 

 

 

 

 



 

M N 

.  

 

      

       8) 

           

          

 

 

 

 

 



 

  

 .  

 

 .      

         

          8) 

 

 

 



 
 

 

 

i.  .             

(  8) 

ii. 
1
4

        7) 

 

       10) 

 

 
 
 
 
 
 
 



 

90 . E

 

 

i.         ( ) 

ii.         ( )  

)   ( ) 

 

 



 

 

 .                 ( ) 
0 ,  

      ( ) 

 



 

 

0
90

0
30

 

 

 
2

,        7) 

       7) 

      6) 

        ) 

 
 

 



 

. 

 .      (  8) 

      

, 
2

.    



 

   

 

   

) 

.            10) 

  , 

.              5) 

 


